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Q1(A) Four alternative answer are given for every subquestion. Select the correct alternative and write the
alphabet of that answer :

(4)
(1) A circle having radius 3 cm, then the length of its largest chord is .........cccveeeueeenee. .
a)1.5m c)3cm
b) 6 cm d)9cm
(2) A line makes an angle of 30° with the positive direction of X- axis. So the slope of the line is ..................... .
a) % c) V3
1 e
b) = d) /3
(3) i AC 7 /BAC
AABC7) ADEF, DF - 4 then, JEDE = e \
a) z C) 5
b) 1 d) 2
(4) Which of the following is a Pythagoras triplet?
a) (1,5, 10) c) (3, 4,5)
b) (2, 2, 2) d) (5,5, 2)
(B) Solve the following subquestions : (a)
(1) Find the surface area of a sphere of radius 7 cm.
(2) In the adjoining figure, m(arc NS) = 125° , m(arc EF) = 379, find the measure of Z/NMS.
N
E
M >
F S
(3) If sind = g—g then find cose.
() /ABC = /DCB = 90°, AB =6, DC = 8 th M ?
- SERAE TR PR =S IeN 4(aDCB) T
Q2(A) Complete the following activities and rewrite it (any two) : ()

(1) In the figure, if A is the centre of the circle. .PAR = 30° AP = 7.5, find the area of the segment PQR. (1t = 3.14)
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R

The radius of the circle (r) = AP = 7.5, m(arc PQR) = ZPAR = 8 = 30°

_ 2 _ 2 (0O  sin®
Area of the segment PQR =r* =r ( 360 360 )

_z(H3}éOBO . 51112 30)

- () (5" - )

225 N
4 ——

_ 225 x 0.14
T ax 12

AB = BC ... [converse of isosceles triangle theorem]
ZBAC = ....ccccu....

ZAB=BC = ..ceven... x AC ... by 45° - 45° - 90° triangles theorem

= e x V8

T e X 2\/§
AB =BC = ............

(3) Find the slopes of the lines passing through the given points.
C(5, -2), D(7, 3)
LetC=(5-2)=(x;,y)D=(73)=____
Slope of lineCD = _
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(B) Solve the following subquestions (any four) :

(8)
(1) In figure, chord MN and chord RS intersect each other at point P. If PR = 6, PS = 4, MN = 11, find PN.

M

R

(2) In trapezium ABCD, side AB || side PQ || side DC, AP =15, PD = 12, QC = 14, find BQ.

! \.

(3) In the figure, if O is the centre of the circle, PQ is a chord. /POQ = 90° area of shaded region is 114 cm?, find
the radius of the circle. (m = 3.14)

P
(4) Find k if the line passing through points P(- 12, - 3) and Q(4, k) has slope %

(5) Draw a circle of radius 2.7 cm. Draw a tangent to the circle at any point on it.
Q3(A) Complete the following activity and rewrite it (any one) :

(3)
(1) In the adjoining figure, O is the centre of the circle. From point R, seg RM and seg RN are tangent segments
touching the circle at M and N. If OR =10 cm and radius of the circle = 5 cm, then
(i) What is the length of each tangent segment ?
(i) What is the measure of ZMRO ?
(iii) What is the measure of ZMRN ?
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M
Oe R

N
ZOMR = 90° ... (Radius perpendicular to tangent)
- In A OMR,
................ = OR? ... (Pythagoras theorem)
52 + MR? = 10?
MR? =100 - 25
MR? = 75
MR= .o (T )
In A OMR,
OM = ..o,
o~ ZORM = i, ... (since opposite side is half of hypotenuse)
Similarly in A ONR we can show that,
ZZMRN = .
= 30° + 30°
= 60°

(2) From the top of a lighthouse, an observer looking at a ship makes an angle of depression of 60°. If the height
of the lighthouse is 90 m then find how far is the ship from the lighthouse. (\/§ =1.73)

KA £
TIN60°
90 m
L 48| 60
B C

Let AB be the light house.
The ship is at C and observer is at A.

ZMAC is the angle of depression.

/MAC = /ACB = _____ ...(Alternate angle)
AB=__ .

From the figure, tan 60° =

_ 9%
V3= g
90 904/3
BC=_= = =
Vi T3 T
.. BC =30x173

- The ship is at a distance of from the light house.
(B) Solve the following subquestions (any two) :

(6)
(1) The ratio of the intercepts made on a transversal by three parallel lines is equal to the ratio of the
corresponding intercepts made on any other transversal by the same parallel lines.
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(2) A ABC is an equilateral triangle. Point P is on base BC such that PC = %BC, if AB = 6 cm find AP.
(3) In the figure, a rectangle PQRS is inscribed in a circle with centre T.

Prove that, (1) arc PQ = arc SR

(2) arc SPQ = PQR

/N
N

(4) The radius and height of a cylindrical water reservoir is 2.8 m and 3.5 m respectively. How much maximum
water can the tank hold ? A person needs 70 litre of water per day. For how many persons is the water
sufficient for a day? (1 = 27—2)

Q4) Solve the following subquestions (any two) : @)
(1) Construct any AABC. Construct A A'BC' such that AB : A'B = 5:3 and A ABC ~ A A'BC.

(2) Determine whether the points are collinear.
R(0,3),D(2,1),S(3,-1)

(3) Two buildings are facing each other on a road of width 12 metre. From the top of the first building, which is 10
metre high, the angle of elevation of the top of the second is found to be 60° What is the height of the second
building?

Q5) Solve the following subquestions (any one) : (3)

(1) In trapezium ABCD, side AB || side DC, diagonals AC and BD intersect in point O. If AB = 20, DC = 6, OB = 15
then find OD.

C D

B A

(2) In figure, .DFE = 90° FG L ED, if GD = 8, FG = 12.
Find (1) EG (2) FD and (3) EF

D

12

All the Best
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